L S e e e+ e e e e ey e e i
|
}  Form M959-28 ERECTOR SEPARATE PARTS PRICES
Most all dealers carry Separate Erector Parts. If unable to obtain in your city send us your check for the parts you want and we will vm glad to send your order direct from here
b if you will send us the name of your dealer.
w» A. C. GILBERT CO., NEW HAVEN, CONN,, U, S, A:
i
4 Trade No. Name of Part Page Price | Trade No. Name of Part Page Price | Trade No. Name of Part Trade No. Name of Part Page Price
N1 4-40 Hex Nuteeeeeerererno 2o, 310 doze | O Pawlevereeiieeneienneeiinsns 20,0, 05 ea. BT  Pierced Disc..oeiviviiinns DX . Twisted Cord (not illustrated.. .05 ft.
- NIl 6-32 Hex Nut..... ceoe20... 10 doz. P Small Base Plate—3 hole..6.... .10 ea. BV  Chain Bucket (large).... DY . Bushing.. 2 for .05
N21 8-32 Square Nut. .2.... U5 doz. Q Regular Base Plate—11 hole..6.... .15 ea. BW Chain Bucket (small}.......4:... DZ S Tackle BloCK... . iereeeeeeesdenes 215 ea.
P7 Small Wheel.ooooaotn 30 A0 ea. R Dash Plate...oooiiaiaainnn, Ao, 20 eal BYX ReHector.,.v.eveisereennaeans EA U.wnozw_ncnmlamnwn E. W.
! i1z Crown Gear....ocoovoens O 10 ea. S, Large Base Plate—21 holes.6.... 40 ea. | 'BY 11 Hole Fibre Strip. EB ¥ in. Collar....... PP 2000 .05 ea.
! P13 12-Tooth Pinion Onu?. 3. 0 eal T Boiler...... rereireeernneanee d .25 ea. BZ Boiler Plate... EC  Giant Axle—29 in. long
P14 \WOrm Gear....eeeseeeeesesssden.. 20 ca. U Boiler Top....... .20 ea. CA Signal Arm... 5-16 in. diam.. PN .50 ¢
P15 Coupling..... U % 10 ea N4 Short Boiler..... .15 ea. CB Wrench,..oooouen. . ED  Three Drum Hoist.....
P17 Red a<7nm_‘l~mqmn ........ 3. .10 ea. W Stack.eeieeieceneisnns .05 e.. CC Cab Top B (with large hole) 4.... .25 ea. EE  Double Angle Bracket
P Five Hole mn:ml»oﬂdma..! .. U5 ea. X Digger Scoop....evusn..- . 73 ea. CD ¢ ¢ A (without large hole)4.... .25 eu. EF  Brush for PS8 z.uﬁo?..:..x
P12 Slotted Strip... 2 01 ea. Y AUGnos.nEmmal.mﬂn B. M. V CE (Discontinued—see R) EG  Brush Spring for P58 Motor.2....
P23 Crank..ocoovenvens m .10 ea. Z Flanged Wheel..... .15 ea. CF Brass Brush...... vreeenes2ee.. 2 for 05 EH Gear Box Bracket...........2....
P33 Small Serew Driver.........d.... .05 ea. AA  Eccentric Crank.............2.... .10 ea. CG Miniature Light Bulb......2 .10 ea. EI Standard Gear Bx ‘Side Pl4....
P4 Hank of String.e.ceeeeeseeedon. 05 ea. AB  One Hole Coupling..........2.... .15 ea. CH Right Angle.......... veeeeres20... W10 doz. EY Gear Box Bas€...ceieersnrnboees
P37 COllAT v rnreanrannnsenss 2.... .25 doz, AC Universal Bracket...........2.... .10 ea. Cl Large Brass Segment.......2.... 3 for .10 EX  Plain Drum...... P S
P38 3-hole Strip..e.e-... 2.... .05 doz.] AD Hub Coupling....... 25 ea. CJ 36 Tooth Gear........oooeneenndonn . EL Brake Drum......c.cveeeeoo 3. 25 ea.
P39 2.... JA5doz.| AE  Spiral Spring....... 05 ea. CK  Coil Magnet Wire..........2. EM  Universal Car Truck........2.... .05 ea.
P40 2.... 20doz.| AF Small Hook....ocovirrraennn 2.0, 15 do . CL  Small Rubber Tire..........1 EN 14 in. Special Pulley........ 3.... .10 ea.
P48 3., .20 ea. AG Large Hook.. vieerseensa2oo.. 25 doz. CM  Fibre Disc with Hub......3. . EQ 6 in. Dup. Flat Base Plate 6.... .15 ea.
P4y 18 Tooth Gear. veenadea.. 15 eal AH  Small H«Enmﬁ. veeeneaeneeZoae. W25 doz. CN Brass Segment (small).....2.... EP Flat Pulley...cooveevenneneees3onn. 10 ea.
P30 72-Tooth Omwn......... ...... 3.... .30 ea. Al Large Triangle.......ovoven 20000 05 ea. CO Miniature Socket............2.... . ES Small Red Wheel....... .10 ea.
P32 Ladder Chain (22 in. Igt)..l.... 13 ft. AT Paper Erector Flag..........1.... 3 for .05 | CP Fibre Washer...coveeveeenen20a0. 10 doz, EU 3 in. Dup Flat Base Plate.6.... .10 en
P52A Ladder Chain (10 ft. lgt)..1.... .15 ft. AKX  Pile Driver Weight.........1.... .25 ea. .-CQ Siot Coupling......... veeeeni2o.s W15 el EW 12 in. Duplex F. B. Plate..6.... .50 ea.
54 [ U PP - PPN 2.00 ea. AL Collar formed one side......2. .10 doz.- CR Spec. Tur. wuﬁmﬁm ,52.. Hub.5.... .15 ea. EX Big Channel Girder 12 in...1.... 6 for .50
P36G 208?...............I.......m.... 5.00 ea. AM  Special Pulley—DMetal. .05 ea. CS Wheel Segment..............1.... .15 ea. BY Big Channel Girder 6 in....1.... .05 ea.
P57 MOLOT. o vvernnnnnennenens . AN Pointer. .10 ea. cT Large Flanged Wheel......3.... .15 ea. £z 6 in. Curved B. C. Girder..1.... .05 ea.
P37A 2 in. Axle.cieceiiiiiiiaeaanes AQ  Sheave Pulley....... .05 ea. Cu Bell......... ciirrveseesenvesdloies W10 ea. FA 134 in, x 8-32 Screw..........2.... .20 doz.
P57D 6 in. Axle..iiieeiecenniens 3¢ AR 8 Hole Strip....cvvvenn . .10 doz. CvV AUmmnOdnmmﬁm& FB Cam. e eeernranennns evevennai3.... .15 ea.
P37E 8 in. Axle...coiiiiienn AS 3 in. Axle Rod...oovenvennnn2..., 03 ea. CW  (Discontinued) FC  Machine Frame HN_W_:”......a.... 25 ea.
- P57F 12 in. Axle... AT 4 in. Axle Rod...... eeveiZiil, 04 ea. CX 1 in. Axle Rod. m .01 ea. FD Hinged Loop........ 2.... 2 for .05
¢ P38 Motor..... AU Mast Step.....iaiiaiiii.. I..H 5 ea. CY 5 in. Axle Rod....... .2, FG  Small Red Wheel ano<mm w .15 ea.
P3¢  Reverse Base AV 7 Hole Strip Bracket........2.... 2 for .08 CZ 7 in. Axle Rod.... 2, Y Rack. .75 ea.
P60C Transformers.. 3 AW Foot .wmoln...................m,... .Hu ea. DA 10 in. Axle Rod... RN FK  Machine Frame Tett....... .15 ea.
Pg3 Disc Clutch Pow. FHoist..6....15.00 ea. AX 193 in. Axle Rod...........2.... .20 ea. DB Motor Pulley...covvvnaeen. .30 . FL  Helical Gear..oeeevureeeenns 3. 95 ea.
P75 Car Truck. eeeveeeerssneeeensZaen 05 ca AY Bull Ring.....ecoveveesenenn.5oe W50 ean DC Propeller Blade..............1.... 2 for .10 FM Cone Pulle¥.....oooeiivenean3ee.. .50 ea.
: P1133 Terminal Nut 4-40..........2 .10 doz. AZ Bull Wheel Plate........ L5 L35 eal DD  Hood & Radiator............5.. FN  Small Spiral Spring......... 1.... 2 for .05
5.3 34in, x 4-40 Terminal Screw..2.... .Hw doz. BA B. W. Cntr (with Hub) 3 & 5.... .25 ca. DE  Steering Column.... 5. 7O Double Angle Base DPlate. m ve. .05 ea.
G.11  Set SCrewW.....ceeenserensser-2oees 05 doz.| BB Segment Plate........... L2000 15 eal DF  Tie Rod.... .5. FP  Small Disc Wheel.......
S-14 % in = 6-32 Screw. (05 doz. B2 Wood Handle Screw Driver.4.... .15 ea. DG Drag Link .5, FOQ Double Angle Bracket.....
S-51 4 in. x u 32 mw.qmé 2 ww MON. Wm Wnﬁ wuw%mm% w .. .um ea. wmm Wunmmﬁamww mmnmnr_m. eas m FS I-Beam Girder.....ceeereensaloee. 50 ea.
S.57 13 in. x 8-32 Serew.........2.... .U doz, Right Fender................5.... .35 ea. ront Axle... 3.
S-62 qw\mﬂs x 8-32 Serew...oovnen.2eeee A5 don| BE 6 in. Slotted Angle Strip...1.... -50 doz. DI Rear Axle.. 5. REGULAR ERECTOR MANUALS
A o\ in. O:.mmw................H.... .20 doz. BF Ratchet..ovveeenirreenenreeendon. 10 ea. DK Flat Spring 5. No. 1 Frector Manual...........
B 5 in. Girder.. veveesssloen, 35 doz BG Truck womv....:..:.........m: . 1.00 ea. DL Bumper... 5., . | No. 3 Erector Manual.
C 10 in. Girder...... vereenndi.. S0 doz.| BH  Solid Collar..... veeersneanes2i. 2 for 05 DM Dise Wheel......... u .25 ea. | No. 4 Erector Manual...
D m_\.. 0. Curved Girder........l.... .25 do. Bl 6 in. Flat Beam Girder.....1.... 6 for .50 DN  Bearing Right Angle......2.... 2 for .05 | No. 7 Erector “%lanual..
E 5. Curved Girder..........l.... 40doz.i BJ 12 in. Flat Beam Girder....1.... 6 for .75 DO  Steering Wheel with mcc..w.... .15 ea. | No. 77 Erector Manual.....
F 5 Hole Stripe.ececeeeeeesesseZoes 10 doz. BK  8-32 Wing Nut...oooovonnnn200.. .25 doz, DP 12 in. Slotted Angle Strip...1.... 6 for .50 | No. 7% Erector Manual....
G 7 Hole wndﬁ..... veeeneee20000 10 doz. BL  Small Washer................2.... .05 doz. DO Special Large Base Plate No. 8 Erector Manual......ooovvvivinean.. J5 ea.
H 11 Hole Strip.... m ww mon. W&m Wﬂmaw mrm% Wncomx?as&..:m.:. m.mm ea. bR L (28 roﬂmmq......ﬂ... [N - T .mm ea | No. 10 and 12 Erector Manual............1.00 ea.
I 21 FHole Strip.... ©.2.... .20 doz. ? egular Turret ate.......5.... .15 ea. arge Rubber Tire..........3.. 15 ea.
I 41 Hole mﬁ.mw.. eeeiienea 2o 30 dom BO Reverse Switch Attachment m.... .50 ea. DS  Cotter Pin......... ...1.... .05 doz. ERECTOR ACCESSORY MANUALS
e 11 Hole Strip Bracket......2.... .35 doz.| BP  Tip_ Bucket. ceireeiennaaddol.. 250 ea. DT  1-hole Set Screw nan.:mi.. . 9 for .15 | No. 3005 Erector Electrical Set Manual..$. om ea.
1 21 Hole Strip Bracket......2.... .05 ea. RO Resistance Wire (not Ezmﬁ.m"mmv .10 ea. DU % in. Diam, Axle 8% in....2.... 2 for .25 | No. A Giant Girder Set Manual.......... .35 ea
. M Small Deuble Angle........2.... .25 doz. BR  Open Slot Angle............2.... .25 doz. DV 6 in. Curved Beam Girder..l.... 6 for .75| No. B Big Girder Set Manual......
F N Long Double Angle.........2.... .05 ea. BS  Poreelain Socket.............2.... .20 ea. DW  Attachment Plug—not illustrated .15 ea. | No. C Const. Equipment Set Manual.... .25 ea.







S ERECTOR SEP.
| COLLARS ‘COUPLINGS |







$4OL 9vD SALVTd 3AIS







SRS




